M = 0 & AF S & Al A
2008 &= 20 A LB A
2L
BHZD0 A AU
Co SmTRSE (SH9:8d)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
220 227,432 239,383 A 11,951
230 Al &I 143,562 128,703 14,859
HEXNES 44,730 44,730 0
olgt&e=X& 37,130 37,130 0
301 et A3 37,130 37,130 0
05 S-2l-eyes2Ea3 37,130 37,130 0
O oY 36,080
—J|gs4 200,000& * 11 * 128 26,400
—&0= 200,000& * 11¥ = 23| 4,400
—glol ALY
20,000& * 11 = 23| = 128 5,280
O g8z 50,000& * 21 1,050
FOUEFAHX A 7,600 7,600
301 Let8 A3 7,600 7,600
10 SAIRHIEAZ 7,600 7,600 0
O AZDEFHT AHBY
10,000& * 360 3,600
O 2ololy BMMs 24
10,000& * 2009 2,000
O THollol& & =x2&8&8% B4
10,000& * 2009 2,000
HAF Y SSAIE 22 98,832 83,973 14,859
HAr22] 57,048 53,973 3,075
101 Q1 Hl 9,610 8,973 637
10 JIZHZ22ANHsSE+ 9,610 8,973 637
O A2 9,610
—J|I2= 29,4303 * 14 » 260 7,652
— I 2Y 29,4303 * 19 » 37 1,089
—40) B8 = 8,740,710 = 0.0994 869
201 LBt AH| 10,458 0 10,458
01 At22t2ldl 1,452 0 1,452
Odet=2H| 1,452
— 20142 121,000& * 128 1,452
02 =329l 9,006 0 9,006
OdzH| 4,068
—15 AMRA 869& = 13L » 90L& * 3CH 3,051
—oE0ITA U Bloa
8693 * 13L = 90L& * 1CH 1,017
OAI&E &H| |Xb] 1,938, 0002 1,938
O Xteterl 250,000& * 12& 3,000
401 AlEHIZL 20| 30,000 45,000 A 15,000
04 Al&H| 30,000 45,000 A 15,000
O&EAEH| 30,000




L
BB AR AR AL
CHO AL U DDAIS B2 (Ste-82)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
—EAN EE2 Y H2Z2 WA 30,000,000 30,000
405 XHaHE SHI 6,980 0 6,980
01 A& =SEFSHI 6,980 0 6,980
OABIY 2 200,000 * 16H 3,200
odxgstet 7+ 700,000& * 14 700
(@LSIPNERel 160,000 * 1370 2,080
o0l 2ME 7Y 1,000,000& = 1JH 1,000
S2AlA& 2 41,784 30,000 11,784
201 LBt HH| 11,784 0 11,784
02 =329bl 11,784 0 11,784
O2222 <2 HA 11,784
—JI28 dMIIe3
5,000& * 1508 * 12& 9,000
—nsss dIe3
24,000& * 35 * 12&8 864
—SYAE MRS
80,000 = 204 = 12& 1,920
401 AIEHIZL20HB] 30,000 30,000
04 Al&H| 30,000 30,000
OSBANEE A L Mz Hy|
30,000,000 30,000
HH2IAH|(Z2=H) 83,870 110,680 N26,810
olE2dy|(2=9) 14,320 14,320 0
olztedH|(2=2d) 14,320 14,320 0
203 LR =&H| 9,520 9,520 0
01 IS RFZE| 6,000 6,000 0
OHH 500,000& * 12& 6,000
02 HEAIAHERFZEY| 520 520 0
OFAAIMZ 40,000& = 134 520
04 REANSIYERFEHI 3,000 3,000 0
OFN2IEIRFAH| 250,000& = 128 3,000
204 MNP AY| 4,800 4,800 0
01 HMZARLHAY| 2,400 2,400 0
OH& 150,000& = 1 = 12& 1,800
OFHE 50,000& * 18 = 12& 600
03 SHYRAHESHI 2,400 2,400 0
OMNREE=s23 100,000& = 294 = 12& 2,400
Jl2dd(2=9) 69,550 96, 360 N26,810
Jl2dd(2=3H) 69,550 96, 360 N26,810
201 LBt AH| 36,950 54,960 A 18,010
01 At222ldl 30,690 31,238 N548
Odet=gH| 13,000,000& 13,000
osg==¢ 12,050,000 12,050
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